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Political Theory and Thought
(Trsrifaer fagra wa faaT)

Time : 3 Hours Maximum Marks : 60

Note : This paper is of sixty (60) marks divided into three (03)
sections A, B, and C. Attempt the questions contained in
these sections according to the detailed instructions given
therein.
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Section - A / @US-h
(Long Answer Type Questions)/( S 3T aTel Wy )

Note : Section 'A' contains four (04) long-answer-type questions
of fifteen (15) marks each. Learners are required to
answer any two (02) questions only. (2x15=30)
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1. Critically examine the behavioralrevolution in Political science.
What are its limitations?

TerHifd fagm # eeRaK! Hifd &1 SAerecHe  Tefo
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Discuss the mainattributes ofideal state of Plato. How farit is
practical?

IRl o SIS I o qEA dcdl b1 faae hifu) 78 Fal ah
IR &2

Criticallyexamine Rousseaue's theory of General will.

4 % G TeS % fAgr w1 STelercHs ahero
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Define'Globalisation'. What are its merits and demerits?
‘et uReifaa ST 39 O SR ST
&2

Section - B / @WUg-9@

(Short Answer Type Questions) ( g I AT U9T)

Note : Section 'B' contains eight (08) short-answer-type

e

questions of five (05) marks each. Learners are required
to answer any four (04) questions only. (4x5=20)

TUs @’ H 313 (08) Y I Arel W fad My ¥, wedrew
w9 & fau uier (05) i Fratfa & 1 foranffay o g
H hdel = (04) U9 & ST ST § |

Write in brief on merits of democracy.

ARdd & O W He9 H fafem)

What do you know about the state of Nature of Hobbes?
BloH hi Wiehfceh el & &R | M9 &1 S 87
What are civil rights? Write in brief.

T afsR w B €7 Wew W fafew)

How John Rawls defines justice?

S Wod = &1 fohg wehR ufenfod e 22

What is Dictatorship of Proletariat in Marxism?

TR H ‘Teerment’ ®1 sAfermee’ # 72
'Aristotlis views on slavery are most disputed'. Comment.
‘ST & Al g four gaifus foameg © 82
feaquit =Rifs)
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Note :

e

Why Machiavelli is called the child of his times'?
Hfspamatel sl 3 THF 1 1Y F He S 2?2
What is 'Multi-culturatism'?
‘SgEGhfaaR’ o 72
Section - C / @US-T

(Objective Type Questions) / ( TS I )

Section 'C' contains ten (10) objective-type questions of
one (01) mark each. All the questions of this section are
compulsory. (10x1=10)
ToUg 1’ ¥ g9 (10) TS v T U, v wen
& few w (01) 3k Treifa & | 3@ @ue & @t uo=
arfemd &

Write true/false against the following.

frefafea & 9 w@/emE fafaa

1. The book 'The Prince' is written by machiavelli.
(True/False)
‘g THe’ geaw Ofeameta & ga faet T R
(Fca/3199)
2. Rousseaue was the supporter of Tudirect democracy.
(True/False)
w4l TIcA TIhas kI FHfE ol (/378
3. According to Marxists state is the instrument of exploitation.
(True/False)
qrerdarfedt & Td H T A0 HT STR 2
(Fca/3199)
4. Right to property is a civil night. (True/False)
TaIfd 1 AR Tk ATRE AfER T (T
5. The notion of citizenship is essentially a political notion.

(True/False)
ARl w1 foar, siferda: s wHfds fa=r 2
(/3T )
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Choose the correct alternative.

w'r faerea <N
Who wrote the book "The Laws'?
(a) Plato (b) Aristotle
(c) Bacan (d) Locke
fras ‘g @re’ T foren?
(30) =i () &
(|) %A (%) @ik
7. Who said 'Man is born free, but he is always in chains.'?
(a) Hobbes (b) Locke
(c) Rousseau (d) None ofthese

fha #a1 - ‘O T U1 gen ®, g 9% wew
SIS © SRl g3 B2

(1) BisH (9) i
(|) w4 (%) =79 ° & e
8. Who announced 'Post behavioralism'?
(a) Charles Marium (b) David Eastou
(c) Almond (d) David Aptor
fPe ' SW-ATERAR' T ETUM Hi?
(37) =red Ay (3) efag =
(@) 3TeTHE (3) Bfas =
9. Who wrote the book 'Communist Manifesto'?
(a) Marx (b) Engels

(c) Marxand Engelsboth (d) Lenin
‘FRIE AR wl’ e & WA fheH &l

(1) wred (I) Trew
(W) oo T W g A () A
10. Who said 'Justice is virtue of soul'?
(a) Plato (b) Aristotle
(c) Ravils (d) None ofabove
fFaa e fF ‘= e @ o R
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